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(A = (=5) = (-2)+6=

P -1= (-2)° —6=

20D 4 (—9) = (-7} +9=

D+ (1) = 40D —9=

(3" -6= (-3)° = (-6) =

(-10)— 1= (D -3=

7 -2= 52— (=5) =

(—1)* +(-5) = 3 -9=

5D +(—9) = 1072 -2 =

7 = (4= (=5 —(-8)=
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¥-1=8 (-2 —6=(-2)
17 1

D ooy = (il = el

2= 5= (83) (=7)* +9 = 58

- 8 1
DTV ED = () = (F19)
- 19 1
(3 =6=(7)=(63)
(—10)— 1= (-11)
7P -2=47
(D' +(=5) = (-4
D4 (—g)= (— ) _ g2
S+ (9 = (%) = (-83)

_ 197 1
i

40 —9= (D)= (82

(-3)° —(=6)= 15

D =3=(2)

52 = (=5) =30
3?-9=0
199 9
2y P P
107727 Cige) = Cligo)
(=5)* = (-8) =33
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